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Diff0l1 for No.2

No()]:(f(x):[:x_3 d X<Z3D, ,Noozz[f(x):[kxz—m ; x<=_4D

X+3 ; x>3 Tx+k ; x>-4
44ax ; x<-3 ax+22 ; x<=-3
No03 =| f(x)= 2x%-3x-44 ; -3<=x<2||, ,NoO4=|f(x)=| bx+a ,; -3<x<95
3x°+b ; x>=2 3x+b x>=15
No05 = [f(x)=x*+2]
flx)=5x"-3
a=3 a=6 a=>5 a=6
No06 = b=32 | ,N007:[b:8}, ,N008=[b:7}, ,N008:[b:7}
c=3.1
d=3.01
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Diff0l1 Answers for No.2
a:7 a:7
Ansl =(k=2), , Ans2=(k=5), , Ans3—[b:_54}, , Ans4—[b:2}
ey " 1=lno-o] “
' _3 —’6 2=[f(b)=48.20, h = 0.2, RateOfChange = 31.000 ]
AnsS = 4_(_2 6) I , Ans6=| .3=[f(c)=45.05,h=0.1, RateOfChange = 30.500 ]
' _5 - ’3 4 =[1f(d)=42.3005, h=0.01, RateOfChange = 30.050 ]
.6:2 L .5 = [RateOfChange at the point a = 30 ] J
d=[f(r)=27nr] ] | A =[f(r)=n] |
2=[f(r+h)=2n(r+h)] 2=[f(r+h)=n(r+h)]
Ans7 = 3_[275(”"‘}1)—27””} , , Ans8= n(r+h) —mr
[4=[2n],.5=[2n],.6=[2n]]] [[4=[2nr],.5=[10n],.6=[147]]]
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